AR TR S E RS RETF— L4

1 D AR R1. 115L7E

X = B fe H|% 4 & B {7 | =
F1EKS | ERISAI12H2A]| 1:53:07| 19,287
Homke | ERI94EI2H1H | 1:55:04| 25 /284"
$3mEKAE | ERR20EI2A6R ]| 1:57:25 22 /2507
HaERe | ERR214E12H5H]| 1:56:00] 21 /2507
#5EIKS | ER2FEI12A40 | 1:54:41] 16,2007
F6EkS | ER23F12H3A ]| 1:54:24| 14/ 1747
BT EIRS | FERR244F12H 1R | 1:54:51 15 7 16{%
F8lElke | FE254E12ATH| 1:58:56| 15 /16411
#oEIKE | ER6HEIZA6H | 2:01:53] 14,1607 E Y =0
H10EAS | PR2TFEIZASH| 1:51:07| 13, 16h2)3%E U 2 0¥
HUERS | PR2SF12A3H| 1:45:49| 12, 16h2)3%E U 2 0¥
H2EkS | PR29FI2A2H| 1:46:13] 91602 %E Y 2 0
HISEIRS | ERGOEIZALE| 1:41:24]  5/1607%E Y =0
HIAERS | SRTFEIZATH| 1:44:24] 8,/ 1647

XEU S o B BE O S TSRO R E o7 T 37— 5 X GBS K,




